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Paper : GE-3 (A)

( Indian Economy )

1. oS Parme ot Sew Bt 1x8=8

Answer the following as directed :

(@ iR 52
What is globalization?

24P/303 ( Turm Over )




(‘ 2 ) ( 3 ,

(b) ‘T ,

) grgzat;?;wfg;eé and more inclusive () ©RE e Wi I 9eT TS ®irS?

The Five-Y. W, o ‘ In which sector maximum number of
faster arel-d ear Plan in which ‘owards ; labour force of India are involved?

more inclusi ’ ‘

targeted is ve growth’ was |

(i) 7 AR (9th Plan) 2. wTo FRART R e SiRbE ke oY Grel/oed

e % . 4x4=16
(@) ™= ARFFN (10th Plan) P (e sa0 7w ooe) f f th
(11} : ' Answer/Write short notes on any jour ol the
(.u) PPt ARFEA (11th Plan) following (within 150 words each):
(tv) Q1 AR (12th Plan)
(®% et S Shvear ) (@ S R o RIF
, ( Choose the correct answer ) ' Import substitution and protection
9 2 S R ST e v
: (b) ©RS S e @IRAR T GE e T
I_V;/ho had propounded the concept of l waql 90|
uman Development Index (HDI)? ’ ! Compare the HDI rank of India and
South Korea.

rate? an by infant mortality ‘ () R wie S TRl

Absolute and relative poverty

(¢) MGNREGA-Y gt B e

W&ﬂetheﬁﬂlf ‘ :
orm of MGNREGA, (@) O Srmma Setii Rt TRt
() wREer QS B9 Population as a factor of economic
What is incidence of poverty? development
(g9) vz TToq
What wa TP 2 () EERAR AR
the base Of T . . . . d
aiwan Mode]? Demographic dividen
24P/303
24P/303 ( Turn Over )
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( 4)

Tod PR T ot (2SI @oo 1 [oewe) :
Answer the following questions (within 500 words

each) :

3. (@

(b)

4. (a)

(b)

24P/303

AT-FTOR FeTe SRSy AT wi7@
T A 710 | : 14

Discuss the condition of the Indian
economy on the eve of Independence.

g{1/Or

SIES 3555 T 57 T AT omsfon
A =1 =EsAt 40| 14

Discuss the new Economic Reforms of

-1991.

TR T S 6?7 T @ 1ot 4 2,
el 4+10=14

What. is Human Development Index?
Explain how Human Development
Index is calculated.

5/ Or

ORSY T A foRal e o1 st
4
14

Discuss about the age and

composition in India, sex

( Continued )

24P/303

( 5

(@) SRoS wREel AR I a2 T4 Risw
IR R gt 4
Explain the various measures taken to
alleviate poverty in India.

%J1/Or

(b) Wﬁmwmwiﬂﬁmﬂ
A T

' Discuss the nature of unemployment
and its estimates in India.

(@) ST SmER AR frrem, W i
oiF B3I SgerE F9 SHRPR Yt I

Explain the measures taken by

Singapore, South Korea and Taiwan for -

economic development.

&2ql/Or

(b) SIS FqF BeoFy wLAfey gEEE It
0

Comparatively analyse the economy of
India and Singapore.

14

14

14

14

( Turm Over )




( 6) (7))

Paper : GE-3 (B) (d) SRR HiHize 30 T R @=dR v
( Money and Financial Markets ) forati
Name the oldest stock exchange in
1. ooe PR ForR® Ses R 1x8=8 India.

Answer the folldwing as directed :

(e) TR IR +fH TR

(a) TR BT S Bt Interest rate differential is
Write the formula for money multiplier.

(i) NI YR ¢S 4 FA WF AT

HYE ST S9TS HIR®A F T{ JN
(b) SR @ RE TRl TH? .

difference between interest rate on
consumer loan and saving deposit

(i) RBI-q ffRe 41 o8 79 | o°
olere Y T T ARy

Which of the following is not a financial
intermediary?

(i) I AfSDH

Business firm

(i) wee difference between previous rate of
interest and current rate of

Broker interest fixed by RBI

(i) e RFw @ | (i) F& o Tt R TR IR TeeR
Stock exchange oS AT AT AL

) P 4 the direct difference between the

(iv) percentage of interest rates of two
Regulator

similar investments

(w7 Tem A Bhrear ) ¢ (iv) ST s 7=

( Choose the correct answer ) None of the above

(c) SEBIS % wortht forat | (o7 Tem A Sfereat )
Write the full form of SERBI. ': ( Choose the correct answer )

. 24P/303 Tumn
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( 8)

(H @Ee Wy W @I 9B S Sy 740

Mention any one element of Balance
Sheet.

(g T4Afee @R @ Fege IR o=
CPITET TNt AR A ?

Which of the following is not an
instrument of monetary authority to
control money supply in an economy?

(i) caE IS A
Open market operation
(i) ST S
Moral suasion
(iii) 2T SRS
Marginal requirement

(iv) @ =i FIR A

Principle of note issue

(= TeI! A Shisat )

( Choose the correct answer )

(h) T& 94Aee Qe “ifRoel/rEem T
IR o WG A A T Y2

Which of the following policies is more

effective for monetary management in
an open economy?

(i) cofes S
Monetary policy

24P/303

( Continued )

24pP/303

(9)

(ii) IeR S
Fiscal policy
(i) IL-Srmf S
Export-import policy
(iv) ST SDHIREH
All of the above

2. 5 Gt ot (R et sif¥dt) - 4x4=16

Write short notes on (any foun:
(a) SRSS @I QN

Money supply in India
(b) ANGF @TT Tow ARwE

Portfolio management of commercial
bank

(o) T-@F 8 afedm

Non-bank financial intermediaries

(@) IEW Tge KA w
National Stock Exchange

(e) R8T FrfAT

Functions of financial system

93 SRS TuIT @HNT SRS R /52 AgRe

ThET R QAT o{ (FEMR  geRifS zh?

ST 4 | 6+6=12

What are the components of money supply
in an economy? Discuss how money supply
influences the general price level.

( Turm Over )




5.

( 10 )

231/Or
Y Gt ot 6x2=12
Write short notes on:

(@) TER &

Functions of money

(b) TR BIF
Money multiplier

937 GEAfeS KB TR ST 790 Sl
4| 11

Discuss the role of financial institutions in
an economy.

931/ Or
T IGS R Bl | e TwRe i ue ewy
T=ATE I 4 | 3+(4+4)=11

Define capital market. Explain the functions
and importance of capital market.

R 37 A 52 93 Swrer wdRos Rdm
IRZR SRR TAE IR [ 90| 4+7=11

What is i.'lnancial system? Elaborate the role
of financial system in a developing economy.

93]1/Or
SEBI-3 St WIF SRR Sarens gt |

5+6=11

Illustrate the objectives and functions of

SEBI.

24P/303

( Continued )

6.

1.

24P/303

(11 )

T YR TR-aieRe = Brdt | e IR of-<ife
AT ST SN I | 4+7=11
What is term-structure of interest rate?
Explain the expectations theory of term-
structure of interest.

R[{1/Or
TR R FfRore orRep-Aifey sl I g
| TR TR s oRey-Afew TwREe il

FRGIRZA? (OINR 8691 S°0F & Al 6+5=11

Explain the role of liquidity-preference in the
determination of the rate of interest. Does
liquidity-preference  approach offer a
satisfactory explanation about determination
of the rate of interest? Justify your answer.

IRTT @wT 4 AR afFt =IEs F90 1 TR
RIFOIRR POt 4 | 7+4=11
Discuss the process of credit creation of

a commercial bank. Explain the limitations

of it. .

S)ql/Or -

ey R 49 TRIIE Rew ieas =1 | 11
Discuss the banking sector reform in India.

Paper : GE-3 (C)
( Environmental Economics )

woe TR NotirRR Se ot ;

Answer the following as directed :

(@) ARTOR TR Pt
Define externalities.

1x8=8




i

T I————

(12 )

(b) TR @GR Tififoe Pl I wiwe
IR el @R[l I AR
Pigovian tax can be imposed to correct

the problem of market failure in the
presence of which of the following?

(i) et @i e

Positive externality in consumption
(ii) TS e JifPet

Negative externality in production
(iii) THITSITS YN ISt

Negative externality in consumption
(iv) SR <BIS T

None of the above

(c) @HRY TR SR e et sHiR?

In which form of property right. :
excludability is the highest?g S regime

Private property rights
(ii) FERT o SR

Common property rights
ﬂﬁ)?ﬁ%¢'wmwaqvﬁ$ﬂq

State property rights
(iv) T& IR e

Open access resources rights

24pP/303

( Continued )

(@)

(e)

1]

(9)

24P/303

( 13 )

g o5’ wrEie ke
Montreal Protocol was signed in
(i) Ssve 5I°
1985
(i) S5 7O
1972
(ifi) S5k HTS
1987
(iv) S55% HTS
1996
ol SR <ot Sz A

Give one example of pollution permit.

F'Gq ©E9 9Bl ANRTe! S F |

State one limitation of Coase theorem.

o @ AfewEiteEE IwTS W AR

AT ATEE T TH?
Which of the following is not included
by the price mechanism of the

competitive markets?

(i) *RGEN T JRIY T
The use value of environmental
resource

(i) S-JIRI T
Non-use value

(i) IS-RAJT T
Non-market value:

(iv) €| (i) ¥ (i) P{Cﬂfﬁ
Both (i) and (iii)

( Turn Over )




( 14 )

(h) MR < SR ARG e TR
@ TS AT SloRpERe 9

In  which year the sustainable
development concept of economics was
first forwarded in the Uniteq Nations?

(i) >5¥+0/1980
(ii) S5v1/1987
(iii) >5¢/1975
(iv) bhbo/lgao

2. oS RN R @G sikbR some
(&R0 Seo =% o) : © 5 it forat

Write short notes on any Sfour
following (within 150 words each) :

() FEAST I AT oot fapicar sifga
Environment as an €conomic asset and
social asset .

() me«mm

Major causes of deforestation in the
developing countries

(¢) o7 @ RIS IR @ 8- Feteryet
Cost effectiveness of tradab],

eff e pollutio
permit in controlling pollui:ionp ;

(d) TeREbE Zm
Loss of biodiversity

(e) M-kﬂ?ﬁﬁ{ﬂq = -~

Pearce-Atkinson me
development

of the

asure of sustaingble

24P/303

5x4=20

3. (a)

(b)

9. (a)

(b)

24P/303

( 15 )

Ry oA P B REww
e e wive Rien R wie el

TATE vl 39 3+10=13
What is environmental economics?
Discuss the issues and prqblems
related to ‘environmental ecqnormcs.

o%31/Or
fRepeTol
et e & 3?7 TER
%ﬁ%?ﬂﬁ@%@«mﬂﬂ_m
R R =87 S I =

What do you mean by market failure?

i ?
auses of marlget failure
%;tdirees %:r(l:(et fail for environmental

quality? Discuss.
e T, AR ST e
:;T:IW ROR  AMES RN M Ei
WWWIQQWW&ISZ .
; o
g et sl

nvi lems in

i avironmental prob i
Explamv:il:g :. special reference to solid
?vziin management, deforestation and

watershed management. Suggest a few

practical solutions to the problems.

o]1/Or
wﬁﬂmmmwmﬁﬁﬂ

el iciziall

G an al n the environmental
i ccount O e .
“l,i?:ies undertaken in developing
po

countries.

13

( Turn Over )



S. (a)

(b)

6. (a)

(b)

( 16 )

S | ARG o S l-ga2 0

N @R (FaS <R ~imies ARy fort |
10+3=13

Discuss the contingent valuation method

of environmental valuation. S}}ow the

benefit of this method in measuring non-

user value of environmental resources.

949l/0Or

R Tt o Prmeerr Rifon AR STIZ 3
SIS F4 | 1
Explain the various

methods of
valuation of environment

al goods.

WWWWWWIWW
WWW?WW| 5+8=13

Explain the concept of sustainable
development,

How do we measure
Sustainability? Discuss,

S/ Or
CNETRR (e I I Ty SRy 1S
S R s R @ore Szt
eRTERM
Explain

€ varioug international
agreements relateq
concern for

and Sustainable de

13




